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1Teslla = 10*Gauss , 1Weber = 108Maxwell

19.3 x 103Kg/m3 = 19.3gr/cm

3

13.6 x 103Kg/m3 = 13.6gr/cm?3

7.86 x 103Kg/m3 = 7.86gr/cm3

1x103Kg/m3 = 1gr/cm?

1.025 x 103Kg/m3 = 1.025gr /cm3
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0.917 x 103Kg/m3 = 0.917gr /cm?3
0.806 x 103Kg/m3 = 0.806gr/cm3
9.5 x 103Kg/m3 = 9.5gr/cm3
2.8 x103Kg/m3 = 2.8gr/cm3
5.5x 103Kg/m3 = 5.5gr/cm3

1.6 x 10°Kg/m3 = 160gr/cm3

c=2.998 x 10%m/sec

g = 9.81m/sec?

G =6.673 x 107 1'N.m?/Kg*
N,y =6.022 x 10*3mol1

R = 8.314Joul/mol. K

c’> =8.988 x 10'°Jpul/Kg
g0 =8.854 x 107 12F/m

Ho =1.257 x 10°°H/m

h =6.625 x 1073*Joul - sec
k=1.381x10"23Joul/K
e=1.602 x 10 °Coul

m, =9.109 x 10731Kg

m, =1.673 x107%’Kg

m, =1.675x 10" %"Kg

my; =3.344 x 107%"Kg

a=>5.292x10"11m
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Up =9.274 x 10~ %*Joul /T

R=1.097 x10"m™1
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